
©X M2Y0H1O7[ jKjustYaN GStonfxtOwXaRr_e[ ELyLaCc.u e ]AZl`lS trPivgXhGtwsr erFeosoe^r]vweudr.T G nMrasdfeU cwriCthh_ VISnafqiGntiutoeG hAGl^gGeEbjrpaU o1B.

Worksheet by Kuta Software LLC

Algebra 1

Solve by Graphing
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Solve each system by graphing.
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5)  x + 2y = 2
x - y = -4
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6)  x - 2y = -4
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7)  -x + 1 = 
1
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8)  -3y - 3 = -2x
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9)  Darryl's school is selling tickets to the annual talent show.  On the first day of ticket sales the
school sold 10 adult tickets and 5 child tickets for a total of $165.  The school took in $220 on the
second day by selling 14 adult tickets and 6 child tickets.  Find the price of an adult ticket and the
price of a child ticket.

10)  Sumalee and Paul are selling pies for a school fundraiser.  Customers can buy cherry pies and
lemon meringue pies.  Sumalee sold 1 cherry pie and 10 lemon meringue pies for a total of $65. 
Paul sold 3 cherry pies and 6 lemon meringue pies for a total of $51.  Find the cost each of one
cherry pie and one lemon meringue pie.



©l G2W0n1[7q zKpuot_aQ ZSJoDfstPw]avrTeY vLzLWCt.Y w VAzlmlo QrQibg\hgtlsR krQeys_ecrzvLepdJ.s r vMgaQdGe] owjiithhi vI]nmfrirnxiFt_ek nAjlggVe]bDr[aV Y1h.

Worksheet by Kuta Software LLC

-3-

Answers to Solve by Graphing (ID: 1)

1)  (2, -1) 2)  (4, 4) 3)  No solution 4)  (-4, 4)
5)  (-2, 2) 6)  (-2, 1) 7)  (3, -4) 8)  (3, 1)
9)  adult ticket: $11, child ticket: $11 10)  cherry pie: $5, lemon meringue pie: $6


